Adjustable Dually Adapter (5 Lug) 8.5mm to 14.5mm
#BRXT5DU

Installation Manual 1) Remove the center hub cap from the inner

Parts Included: wheel.

o
&3
<

(1) Hub

(2) Connector

(3) M4 Barrel Nut - 16mm
(4) M4 Barrel Nut- 11mm
(5) Spacer - D6x11x2
(6) Spacer - D6x11x1

(7) Washer - D5x8x2

(8) M2x8 Socket Cap Screw
(9) M4x6 Set Screw

PO AP BPBNNNN

Inner Wheel

Outer Wheel

2) Remove the center hub cap and wheel
hub from the outer wheel.

WWW.BOOMRACINGRC.COM

Adjustable Dually Adapter (5 Lug) 8.5mm to 14.5mm

5) Align the Dually Adapter with the five lugs on the inner wheel.
#BRXT5DU o ambled K

Insert the assembled unit onto the axle shaft. Select the
appropriate Barrel Nut length (11mm or 16mm) and insert one to
two 2mm washers between the wheel and the Barrel Nut.

Adjustable Range: 8.5 -14.5mm

l
11mm Barrel Nut ") 2mm

0

6mm Barrel Nut

Without Spacer With Spacers

___6) Torque the M4 set screw provided
to secure the Barrel Nut.

WWW.BOOMRACINGRC.COM

3) Depending on tire width, you may adjust the Dually Adapter
width by inserting the Tmm and 2mm Spacers within the
Connector and Hub. The Spacers allow additional thickness
combinations from Tmm to 6mm.

2mm Spacer

YOUR R/C HOP-UPS SPECIALIST

We love building scale models. Let's be honest. Which
badass doesn't love a beautiful looking carg Our focus is
on designing the best looking products that really perform;
products that withstand beating and still look great
enough to be shelf queens. Offering you the latest designs
made with the highest possible quallity at affordable prices
is our absolute focus for all enthusiastic hobbyists.

Since 2012, Boom Racing has been manufacturing
extreme performance RC products. We want you to love
and enjoy these amazing "scale" and "performance”
based products to create your own unique redalistic RC
builds.

We are never going to stop at giving you the best updates
and upgrades on our product lines. That's our passion and
our commitment to keep you on your toes with excitement
and anticipation for what's to come next.

Enjoy being a BADASS!

#boomracing =B www.facebook.com/
boomracingrc

www.boomracingrc.com

4) Install the assembled Dually Adapter on the Steelie plate with five
M2x8 screws as pictured.

M Steelie Plate
W\

LRSS
Socket Cap Screw (Dl

Outer Wheel

BooMRACING:~,

\Your, Radio,Control Car, Specialist|

Adjustable Dually Adapter
(5 Lug) 8.5mm to 14.5mm
#BRXT5DU

cNJOY BEING A BADASS

Copyright © Boom Racing Co. Lid




